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X4 ES i HIE B ; RIS | HhEoiKEE
m 50cm 5cm
1| EE— /N 7A23H 0.05 0.05 006 | YI9UF *
2| ETINER 7H23H 0.06 0.06 006 | YI9UF +
3| E =R 7A18H 0.05 0.05 006 | YI9UF +
4| EINERR 7H22H 0.05 0.05 007 | JI9UF +
5| AL /AR 7H22H 0.04 0.04 004 | FT9UF +
6| FAik/NEAS 7A1H 0.04 0,04 004 | FI9UF +
7| & B INERR 7H23H 0.06 0.06 006 | YT K +
8| = EFIL/NERR 78178 0.05 0.06 006 | 4JIIUR *
9| B F/INER 7A17H 0.05 0.06 006 | YT K +
10] 8L & /M ERR 7H23H 0.06 0.06 005 | YI9UF +
1| FARDER 7A16H 0.09 0.09 009 | ¥I9UF +
12| AR INERR 7H22H 0.06 0.06 006 | 4JIIUR +
13| ffkmE /D 7A15H 0.06 0.06 007 | YI9UF +
1 EBRFHER 78188 0.05 0.05 005 | 4JIIUKR *
2| AR 78228 0.09 0.09 010 | F3UR *
fﬂ 3| ffE R 7R 23H 0.08 0.08 008 | JIIUK *
; 4|t & hERR 7R18H 0.07 0.08 008 | 4FIUR *
5| AFRPER 7R22H 0.07 0.07 008 | JIIUKR *
6| B 1L R 7H22H 0.06 0.06 006 | 4FIoUF +
Rl | RFINFEREE 7H308 0.18 0.19 019 | Bt | FRI7ILE
%E 2BHLUNEEREE 7A308 0.07 0.07 0.07 Bithoh gt +
Sl 3 SPERBE 78308 0.08 0.08 008 | AOfR | 2ALLUH
1HRFRER 78178 0.06 0.07 0.06 ERE x
W 2 KXLHREE 78158 0.09 0.09 0.10 E)5 +
v 3 FEREE 7A158 0.07 0.07 0.07 EE +
=% 4 RREERE 78158 0.10 0.10 0.11 £l 3
] 5| RHUCREE 78158 0.04 0.04 0.04 B +
6 ML EREE 7H14R8 0.08 0.08 0.08 EE *
- BRER 78158 0.06 0.07 0.08 o +
8| CEBRELA— 78178 0.06 0.07 0.07 S B.Z
1iHRER 7A15H 0.07 0.06 0.06 Bz +
2 MEEREE 7A15H 0.08 0.09 0.08 EBE *
I EEREE 78150 0.13 0.13 0.12 ERE AIZ
4 BIEREE 781580 0.06 0.07 0.08 B35 +
FA 5| NREREE 7A15H 0.09 0.06 0.07 EEE *
kva 6 EREE 7R15H 0.07 0.06 0.06 EE +
£ 1 XEANEREE 7H178 0.10 0.08 0.08 B +
B 8 NIIMZFELXFAZMEREER 7A15H 0.06 0.06 0.06 ERE +
97U IUNRER 78158 0.06 0.07 0.07 EBE x
10 DIEHHRER 78158 0.06 0.07 0.07 ERE +
1| BHNREE 7A15H 0.06 0.06 0.06 ERE it
12| [EF2ESVRHUVCRER 7A15H 0.05 0.06 0.05 ERE AIZ
B REESKHHRER 78150 0.05 0.05 0.05 ERE AIZ
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=5 34 A% H AR ATBH | HEORE
1m 50cm 5cm
1| DIEZHHR-HIEZDHRER 7A15H 0.14 0.15 0.16 EEE +
2] OYSFHE 7R14H 0.09 0.08 0.08 ERE RS
3 EELHE 7H14H 0.07 0.08 0.07 ERE *
4t EH#E 7A17H 0.07 0.08 0.08 BBz +
5|t BIX S $hHEE 7A14H 0.08 0.08 0.08 EBE *
6 HI=4H#E 78178 0.07 0.08 0.09 ERE +
1| 2R 78158 0.06 0.07 0.06 ERE +
8| T—TILHHE 7A14H 0.06 0.06 0.06 EEE +
9 XLDOHFHE 7816H 0.07 0.07 0.07 ERE T
10| ik & % HEE 7A14H 0.05 0.06 0.06 BBz +
EBRFERAORAE 7A1H - 0.08 = g =
2 BBRFEREOBAR 7818 - 0.05 - b L
3| KLE25 R 7A10H - 0.08 = R E(2/14~1)
4| KXLE45AE 7R 108 - 0.11 - Rk *
5 BILAL A E 78118 = 0.09 = R FARI7ILE
6 HBFIANDLLE 7818 - 0.10 - thf avo—tk
1 ZBFEREALE 7A18 = 0.07 - thg +-E(2/14~1)
8| KB FHELE 7A18 - 0.07 - R T-E
9| FHEIALE 7H2H - 0.16 = R x
10| & HETEY A E 7A3H - 0.04 - R "
M| BFEAARLE 7A10H = 0.09 = ik "
12| EHEMR AR 7H38 0.11 - h +
1BMFEFELDEUS 7A108 = 0.07 - g B
14 EBRFHELLE 7A1H - 0.08 - PR +
15| BB FHERAR 7A3H = 0.11 = R +
16 BILHEAE 783H - 0.11 - =E o
17| HENIESAE 7A10H - 0.06 = R B
18| L ERIRE N E 7A3H - 0.06 - eF 3 =
19 AFRHITEOLE 78108 - 0.07 = R E(2/14~1)
20| ZHLE 7R38 - 0.09 - hf =1
PARE =R AN = /NE 7A10H = 0.11 = ik B
22| EH4EAE 7828 - 0.10 - R Lo —OyEy
23| R1 5 E 78108 = 0.07 - hg =1
24| FNFEXFNE 7A2H - 0.07 - R "
B IRMFEFARKLE 7A 108 - 0.08 = eF 3 =
26 IRFZEFARLLE 78108 - 0.07 - g =]
271 BRFZEFAGREAR 78108 = 0.09 - R B
28 EHAE 7A3H - 0.09 - g "
29| EHEAR 7A3H = 0.08 - RIEPR | E(2/14~1)
30 oKLE3EAE 7R3H - 0.05 - R *
31| KLE5HAE 7H3H8 = 0.05 - kiR +
32| XLEF6 B AE 7A3H - 0.07 - LR T-&
33 HKLEHE7ELE 7A38 - 0.08 = b =
34| DALV A/ E 7R 108 - 0.08 - Rk +
B RFLAELAE 7A3H = 0.20 - IkizhR T-&
36 dLERIFIL A E 7A38 - 0.07 - g L
37 ALERIRFE A B 7838 - 0.09 - thf I LFy T
BB IRFERAE 7A78 - 0.15 - BBk | os—nvxs
I HEBFLELSLE 7A1H - 0.08 SR LES *
40 BRTYIILE 7A1H - 0.09 - BEPR +
M| EBRFHELE 7818 = 0.08 = Rk avyy—hk
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1m 50cm 5cm
2| ZBRTFHRELE 7A18 0.10 - 2 ePS +
43 BILE AR 7118 0.13 - BEPR x
4 R AL A E 7A3H 0.12 - BEPR i
45 iR EEHLELE 7A3H 0.12 - kiR +
46| BILAE A E 7R118 0.16 - FEEEYO =
47 B A E 78118 0.17 - BEPR x
48| BILEAE 7A118 0.16 - ERMRTEA +
49 AFERHITHEALE 7R 108 0.08 - kiR =
50| K LEFIBLAE 7810H 0.09 - th x
51| RFILAE 7A3H 0.12 = R B
52| RFILRAE 7A3H 0.15 - eF 3 "
53| ZHE—2AE 7A38 0.08 = thg L
54 EFRAE 78108 0.08 - [=aF: 3 T
55 R3S LNE 7A10H 0.08 = ik B
56| i K4S E 78108 0.08 - 2P +
57 AR5 LAE 7810H 0.08 - R B
58| iRV IRV AR 7A10H 0.09 - R "
59 FEFDHAE 7A2H 0.11 = R +
60 FHEAR 7H2H 0.08 - R *
61 BW25NE 7A11H 0.06 = R B
62| R25 N E 7R10H 0.09 - g "
63| 1=(TD LG 7A2H 0.06 = R x
(T | A/NES 7A3H 0.17 - Rk +
65|LoIELNE 7A2H 0.06 = hf B
66| KEAE 7A28 0.08 - g "
67| KELE 7828 0.08 = b =
68 RIEFR AR 7A2H 0.08 - R "
69| HEWIZLE 7A2H 0.04 = ik "
70 XD L5 7828 0.13 - R B
ANE= N TN 7A28 0.05 - R B
72| EBE I NE 7A11H 0.08 - eF 3 "
73| LA R AR 7H8H 0.10 = EEE S L
14| LB ERAE 7A8H 0.07 - R E(2/14~1)
75| ERIFEFEAE 7A8H 0.20 = R B
76| EF AT LE 78118 0.16 - R "
771\ REEELE 7811H 0.09 - SAESHER x
18 XREERmAE 78118 0.13 - thg +
19 £ ARNE 7A1H 0.16 = ik "
80| RCALAE 7A18 0.15 - WEMHE +
81 R2EAE 7818 0.08 - thg +
82| R4ABLE 7818 0.07 - b BE(2/14~1)
83 XH/1ELE 7A2H 0.06 = g =
84| X R2ENE 7R28 0.07 - hR B
85 XHF AT AE 7828 0.08 - R B
86 ZHF /45 LAE 7A2H 0.08 - eF 3 "
87| XH A5 AE 7828 0.13 - th e
88 iZFHR6ELE 7A18 0.11 - h g +
89 XHAR7TFSE 7818 0.10 = R +
0| FILEHRRLE 7A11H 0.08 - R *
91| FILEBEAE 7H11H 0.08 - th +
22| EBRIA AR 7A2H 0.15 - g B
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m 50cm 5cm

93BT L5 7A28 = 0.10 = R avyl—k
% BERH AR 78118 - 0.08 - b L
95| T FERIAE 78118 - 0.15 - thf =1
9% TrF152E 7A118 - 0.13 - b +
97| HE R FEELE 7R118 = 0.06 = 2P +
98| REH LR 78118 - 0.09 - h +
99| R1SLE 7A1H = 0.07 = hh B
100 R3ISAE 7A18 - 0.05 - 2 ePS +
101 | R55 2 E 7A1H - 0.13 = R +
102| R6E5E 7A18 - 0.11 - thg +
103| R7EE 7A1H = 0.11 = g "
104| R8ENE 7818 - 0.08 - b L
105| RIS E 7R18 = 0.07 - bR B

I 106| R10S 22 E 7A1H - 0.12 - PR g

107| RIEAE 7R1H - 0.11 = EES ILAEHE

PR 108 /NEAE 7A18 - 0.07 - ol L

Nl 109 BB TFRAANE 7A2H = 0.14 - EEMHE IL A%

S 110 = B ILABAR 7828 - 0.11 - WEESHR T

2 EENEA 7828 - 0.09 - ik +

i 112 | F T A 7A2H - 0.07 - R T-E

% 13| FAE A E 7A2H - 0.16 = ik =
(REAN=YNES 7H2H - 0.20 - thf =1
15| FLBEEAE 7118 - 0.11 - th *
16| XREBELE 7A118 - 0.09 - b +
17| S & LR AE 7H28 = 0.09 = R +
M8 RERTFISLE 78118 - 0.06 - thf B
M BRERFISLE 7A28 = 0.13 = th +
120\ REFRTF2E5L/E 78118 - 0.12 - 3 *
121 FLELLAE 7811H = 0.16 = R *
122| 2 F2E 78118 - 0.13 - i =
123/ FILERAE 7A11H = 0.08 = ik B
124\ Ty FRIAAE 78118 - 0.09 - th g =1
125| ERERR N E 78118 - 0.15 - th =]
126| AR A E 7A118 - 0.14 - | EISIGHNIH TR +
127 | R35 78118 - 0.10 = eF 3 a
128 Rl EBHANE 7A8H - 0.14 - thk x
129t B h R AE 7A8H - 0.12 = R B
130/t &5 5 N E 7A8H - 0.14 - g =
131t &6 52 E 7A8H - 0.17 = b L
132t & 75 2E 7H8H - 0.17 - hg =1
133 BFEBELE 7A8H = 0.13 = ik "
134 AR FELDEV S 7A8H - 0.08 - WEE FRAI7ILE
135 RS A 7A8H - 0.17 - th g +
136| Pl SHIAE 7A8H - 0.15 - Rk 24
137|#EYBTEL DU 7A8H = 0.07 = PR +
138 | HFIIR AR 7A8H - 0.17 - #EEADO T REE
139k EEICAE 7A8H - 0.10 - S =
140 it &452E 7A8H - 0.14 - PREEMHE "
141 B252E 7A8H - 0.14 = R *
142/t B35 2 E 7A8H - 0.11 - g =
143t B 15 0E 7A8H = 0.14 = ik B
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144|885 AE 7A8H - 0.16 - PR =
145 | ik — AE N E 7A8H = 0.14 - thf =1
146 | PURFHIAE 7A8H - 0.16 - th g &
147 |PIRSN B ENE 7A8H = 0.15 = ik "
148 | iR IR E #EE 7A8H - 0.13 - thR *
149 | FIRRNP S S E 7A8H - 0.11 - thf =1
150 RR B LE 7A8H - 0.16 - Rk =
151 | FEFT A HAE 7H8H = 0.13 = R Bt
152 | IR R & A E 7A8H - 0.11 - LBt x
153 EDAE 7A9H - 0.14 = R B
154 I RAF AR 7H98 - 0.10 - R *
155 | FT A 2 B R A My ek 30 ) 7A98 - 0.12 - th =
NI 156 DX L\DAE 7H9H - 0.15 N sk =
157 ZDAE 7A98 - 0.17 - g =
R 158 HTARBRELE 7A8H - 0.07 - th g B
fg 159 FABEAE 7A8H - 0.13 - thg A R R
el 160 FTACSLAE 7A8H - 0.14 - R "
=3 161 HTARPYDKRLE 7A8H = 0.12 - R =
Al 162 HF O OARLE 7A8H - 0.13 - g L
163 I AEZLNE 7A8H - 0.14 - thf =
164 FHIARAKFR T LAE 7A98 - 0.14 - thf B
165 | FT AR E R 7A9H = 0.13 = R FRAI7ILE
166 | At R th 75 N F 7R98 - 0.15 - R B
167 |t RhEAE 7A9H = 0.10 - b e
168 IEthFEL DU S 7A8H - 0.12 - thf +
169 =B D 2N 7A9H - 0.16 - thg +
170| B/ H 2 E 7A9H - 0.12 - thR B
171 |tk AR 7A98 - 0.18 - rhf B
12| KREAE 7898 - 0.13 - th x
N 173 | FAAT AR 7A9H - 0.15 = P B
174 FHE1 SR 7A98 - 0.06 - rhf +
PR 175 iEERIAE 7A98 - 0.11 - R B
Vol 17633124 E 7A9H - 0.13 - thf =
& BRUEERE 7A98 - 0.1 - i =
D ETHAE 7A9H - 0.06 - R "
ES 179| = sHEE N R 7A98 - 0.13 = thg L
. 5o RTHRAE 7A98 - 0.13 - g =]
181| REIF A E 7898 = 0.19 - EEfMhE +
182| FMI&25 A E 7A9H - 0.09 - RIS R (FOR) B
183| FH&EITAE 7A98 - 0.13 - thf =1
184| ERE45AE 7A98 - 0.12 - th g B
185| ERE 15 AE 7H98 = 0.11 —| thaR (Prs A EEfa) =
~  REHERAvA N 7R9R - 0.07 - Hhf T
187| Frfk A B 7R9H - 0.13 - ik +
N 188 IESETFELDHEUIE 7A9H - 0.08 - WEEfMHE +
E 189 | fik 25 A E 7A9H = 0.12 = R *
#h AU #MENE 7A98 - 0.08 - th g =
S 191 fEERNE 7R9R = 0.14 = gz B
Sl 192 EKRELE 7A98 - 0.06 - thf +
193| e EET F 0 E 7A9H = 0.11 - g =]
194 LIS E 7A98 - 0.11 - rhf B
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m 50cm 5cm
1| EXEBLE (AEYDLRE) 7H28H 0.12 0.14 0.13 g -2
2| EAKGEEN RIS (RAR—Y R 7H28H 0.11 0.11 0.11 thf +
| BT EFERIS 7H28H 0.05 0.05 0.07 | ABHAYRR—R iR +
4 XD E RIS 7H28H 0.09 0.11 0.07 g Y2
5| I REF D EFBkiG 7H28H 0.06 0.06 0.06 | EHYRA—R 43R *
6 SnHLFro S5 7828H 0.13 0.15 0.14 thf B.y
7| 1Bt S B Bk G 7H28H 0.09 0.09 0.09 | EAhYRER—RfFif +
8| ML T % BIERLIE (515) 7H28H 0.13 0.13 0.12 g -2
9| Tk T % B MBEENL S (B E ISR EET) 7H28H 0.08 0.09 0.08 EAELD] B-Z
10| T RIAEEE (ZBEFED 7H28H 0.08 0.09 0.11 L EERT 128—OyFy
1| TMRAEE (BFEki5) 7H28RH 0.08 0.09 0.10 | EAhYRR—R fFif +
12| TTRAEE (T=2R3—) 7H28H 0.10 0.10 0.11 AOftiE BWAANIZ
13| FIAR)NP S 522 F (FFERI5) 7H28H 0.12 0.13 0.12 thf z
14| FFRIP S S8 E (Hyh—15) 7H28H 0.11 0.11 0.11 g Y2
15 | FIRIIDSH 52 E (70 —F BEEEI—R) 7H28H 0.12 0.14 0.17 hR 5z
16|#db & PR A E (FrBkis) 7H28H 0.06 0.06 0.06 | EHUER—R4H5E x
17/ EPRARB(T=Ra—}F) 7H28H 0.06 0.06 0.06 tha +
18| FEBLE (TF=X3—h) 7H28H 0.14 0.14 0.14 |  AQfHA +
19| 4L B 2 BHIEENLIS (ZEDILE) 7H28H 0.22 0.22 0.26 b B2
20| 2<LE % B MEBIA IS (RAE—YI—F) 7H28H 0.20 0.23 0.21 thR AR—ya—FK
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